H £ 0l & AF & S

Al A

FA OEEXIRAEH
B FAAZ 2AI|P 1=
Sl disda EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtSAl=48H 5,528,8% 4,561,879 9%67,015
= 174,960
Jl 859,412
= 979,429
Al 3,515,093
elAd 2FJe A= 5,500,694 4,561,879 947,815
= 174,960
) 859,412
= 979,429
Al 3,495,893
il=raleh 205,800 50,000 155,800
OtEXI= XIEASE 205,800 50,000 155,800
201 Ler=23 | 204,000 50,000 154,000
01 At2teltl 200,000 50,000 150,000
OltSXls 28 ZAIR 82,800
OltsSXs 28 =34 117,200
03 A2 I 4,000 0 4,000
oitSAHZ AIUZ R ZAZE 2,000
OitSAHZ ALK 23| 2,000
203 HR=H| 1,800 1,800
03 A= LR FAI| 1,800 1,800
OUtSX= XA 1,800
A 5,303,894 4,511,879 792,015
= 174,960
Jl 859,412
[ 979,429
Al 3,290,093
IZHAUALFINLE 29 51,100 64,400 13,300
Jl 25,550
Al 25,550
307 elztol & 51,100 64,400 A13,300
Jl 25,550
Al 25,550
05 2I2tRIE =S 51,100 64,400 13,300
QI =ZAASSANEH 29 51,100
) 25,550
Al 25,550
SAAL=AHE IHE X 861,120 574,170 286,950
Jl 430,560
Al 430,560
307 glztol & 861,120 574,170 286,950
Il 430,560
Al 430,560




A DISXRHH
ZE: ZAAY 2Y|Y 2
o7 A2 (Erol &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
05 QIZtAErZ 861,120 574,170 286,950
OFAAHU=SKIME ISKXIA 861,120
| 430,560
Al 430,560
SSTHMHALSEAG 508,600 452,000 56,600
J| 254,300
= 50,860
Al 203,440
307 212+01 A 508,600 452,000 56,600
| 254,300
= 50,860
Al 203,440
05 012t ErE 508,600 452,000 56,600
OSETAAHLBEAY 508,600
| 254,300
T 50,860
Al 203,440
Aratoet & MAAHASEAI 81,440 81,440 0
| 40,720
Al 40,720
307 212+01 A 81,440 81,440 0
| 40,720
Al 40,720
05 QIZtRIErZ 81,440 81,440 0
ORI & ZAHALYSEAMS 81,440
J| 40,720
Al 40,720
INZJAALSKIMAE AU A K& 216,564 212,930 3,634
| 108,282
Al 108,282
307 2I2+01A 216,564 212,930 3,634
| 108,282
Al 108,282
05 QIZtRIErZ 216,564 212,930 3,634
QI =FAAU=XIME KHAHEAIS K& 216,564
| 108,282
Al 108,282
AHatoet Al2|Xls X 347,180 326,300 20,880
& 104,154
Al 243,026
307 QIZt01 A 347,180 326,300 20,880
= 104,154
Al 243,026




FA OEEXIRAEH
M HAAY 2|0 2=
Sl 3= EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 347,180 326,300 20,880
OXH& e &elXls A 347,180
= 104,154
Al 243,026
SIS ANFUEHZ2S 227,380 224,980 2,400
= 83,690
Al 143,690
307 21201 & 227,380 224,980 2,400
= 83,690
Al 143,690
05 2ItRIE = 227,380 224,980 2,400
OS=2ULISE XS (At 2l H /A
) 227,380
= 83,690
Al 143,690
JalZekt XZdl K& 41,540 41,540 0
= 20,770
Al 20,770
307 21201 & 41,540 41,540 0
= 20,770
Al 20,770
01 22X 2| 41,540 41,540 0
OZeEex xIZdl X 41,540
= 20,770
Al 20,770
JuA2Ag =g 6,720 6,720
201 er23| 6,720 6,720
01 AtR2t2|HI 6,720 6,720
OFAAAY (M) RS ¢ 6,720
FAMEAE 2SN 2,682,530 2,394,106 288,424
== 804,759
Al 1,877,771
307 212+01& 2,682,530 2,394,106 288,424
< 804,759
Al 1,877,771
11 AMEISXAEEE 2,682,530 2,394,106 288,424
OZANEAE 2EXNH 2,682,530
= 804,759
Al 1,877,771
JAHEAIE SALA S85E 65,520 60,693 4,827
=S 19,65
Al 45,864
307 21201 & 65,520 60,693 4,827




FA OEEXIRAEH
M HAAY 2|0 2=
Sl 3= EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 19,656
Al 45,864
11 AMEISXAEEES 65,520 60,693 4,827
OTUMEAE SAHL S8+ 65,520
= 19,65
Al 45,864
ARIS XA SAPHE X3 10,200 9,600 600
307 @I2t01 & 10,200 9,600 600
1 AMISXAIEEX 10,200 9,600 600
OFAUTHEAIE BAL S ALRISXIA 1HA
S XK SXte X 10,200
SIS HEXZ 63,000 63,000 0
301 LEIE NS 63,000 63,000
14 IIEt2 8= 63,000 63,000
OFAAEX} THEXI 63,000
FAEEA THEXE A () 141,000 0 141,000
= 70,500
Al 70,500
307 @120l & 141,000 0 141,000
= 70,500
Al 70,500
05 git?(&=s 141,000 0 141,000
OFAIZE} KHEXIE A (E4) 141,000
= 70,500
Al 70,500
HY2FZHI(OISAISHH) 19,200 0 19,200
J|22HI(0IS XIS 4HE) 19,200 0 19,200
J|22HI(0IS XIS HH) 19,200 0 19,200
201 etz 3| 10,620 0 10,620
01 At 2|l 10,620 0 10,620
OZEt=EH| 6,300
O= gl 4,320
202 04l 6.480 6.480
01 2LHOIH 6,480 6,480
OJlEge=a0 6,480
203 =] 2,100 2,100
MU FAZSLIFAI 2,100 2,100
OFANEHE =AY 175,000& 122 2,100




